Political Science
Paper III

RN

gyutseRt 1T
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This Paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.

AT : A1 YeUIhd THU Gegel (75) Sgudell U9 fooiel ofed. 9dish U9 @ ()

0 . W Y gred.

Give correct answer by using the

code given below :

Assertion (A) : The behaviourists
generally avoided the use of

historical materials in their study.

Reason (R)

: They avoided the
study of history because its emphasis
on uniqueness of events could lead

to historicism.
Codes :

(A) Both (A) and (R) are correct and
(R) is the answer of (A)

(B) Both (A) and (R) are correct but
(R) is not the answer of (A)

(C) (A) is correct, (R) is false

(D) (A) is false, (R) is correct

@rrel! feeiean Hehae=i=n s & Ay
I =M ¢

faam () : U I A ST

Ufqerfass GAmn arR Sehall 371R.

HRUT (R) : &I sfaegrEmn vy

2Teed] ST ITAT 37/ 1S hi

SfaeehT=l SeAT=a UshHdxdel X

fceon g5 == sfaemeRehs A

G

Q’Eﬁﬂ'{fzﬁ :

(A) TR (A) T (R) s &7ed o (R)
T (A) I IW IR

(B) Tl (A) 9 (R) IR 3TT=d 997 (R)
T (A) ¥ W AR

(C) (A) s &7, (R) T 38
(D) (A) I% 3ME, (R) I AR
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Who among the following declared
that Political Theory is dead ?

(A) Harold Lasswell
(B) David Easton
(C) P. Lasslett

(D) W. Runciman

Give the correct answer by using the

code given below :

(1) The liberals rejected the

principle of natural rights.

(2) The liberals have radically
individualistic view  of

community.

(3) They found the standard of
judgement outside society and

in theory of natural law.
Codes :
(A) (1), (2) and (3) are correct

(B) (1) and (2) are correct, (3) is

wrong

(C) (1) is correct, (2) and (3) are

wrong

(D) (1) and (2) are wrong, (3) is

correct

G edeh! ol faaRaar et
fogia gd el omRd o W ?
(A) Tiee Ao

(B) Sfws $w=A

(C) @, e

(D) S=9. T

o N

Eeiel fooied Hehageitel aR e 4

SR LG | I

(1) Aufis sifysr=ar fagiamg

SR TR fea.

(2) IIRAJSTET G YTfcTeh

FAfFTarel gfteehior 2.

(38) @ fAofae A9 guSTe 9’
g Suffe wEEE gfafsa &

n@a&%ﬁ :
(A) (1), (2) 9 (3) SRR ATed

(B) (1) & (2) SRR 3Ted, (3) I 3T
(C) (1) R R, (2) 9 (3) T 38
(D) (1) 9 (2) IF 3R, (3) TR 3T
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Which one of the following is not a

Marxist concept ?

(A)

(B)
(®))

(D)

Dialectical and historical

materialism
Theory of surplus value
Theory of Alienation

The Real is Rational

Which one of the following

statements is not correct ?

(A)

(B)

(®);

(D)

According to Mill, Individual
has a right to develop his
individuality as a part of well

being.

Individual can suffer
constructive injury in the

pursuit of truth.

Individual may gamble at home
but he has no right to run

gambling house.

Irrespective of its outcome,
the rights of individual are

unlimited.

o N

Eeardsht HIorar fagid Al
M ?
(A) ggicAs o Ufaeifaes  difasware

(B)

(®);

(D)

(el

st Jearn fagrd

e dETEl g

S e 38 d foash{es e

Wellush! Hivd faae sReR At ?

(A)

(B)

(®))

(D)

fHeT=a | il Tresi-eh fedrdet

MY Al foehTd o=

R | F

T NS Tl ThIcHh

3 EY R,

kil AT B JAR e Iehd

U A I STg1 G o
TFh TR

AT I foRIR T hdn e

TR 3TAle TR
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Which one of the following pairs is

not correctly matched ?

(A) Plato — Justice means to
be true to your
nature.

(B) Mozes — Justice means
helping the friends
and harming
enemies.

(C) J. Rawls — Justice means
fairness.

(D) E. Barker — Justice means
fitting together
the claims of

individuals.

Which one of the following thinkers
said that ideology was false

consciousness ?
(A) Hegel
(B) Marx
(C) Kant

(D) Bentham

WUt IV SISl AT YR e3ael

LEU

(A) =& — W WS AT
TIMTATYAT  SHIA
TGl

(B) wigE — = wus i

ASd {0l ° IOE

ESIlCTUR

(C) I ¥ — =g US| 90T,

(D) 3. SR — AT WU ST
ARSI I YahR
T .

Getedent e faemean fa=m-

ety fyen Softar wed AR ?
(A) &
(B)
(C) e

(D) &g
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Which one of the following
arguments was refuted by Lenin in
his book ‘State and Revolution’ ?

(A) Karl Kautsky —

The state is an instrument in

the hands of ruling classes.
(B) Kropotkin —

Withering away of the state

immediately after the

revolution.
(C) Stalin —

Socialism in one country.
(D) L. Trotski —

Permanent Revolution.

Which one of the following

statements is not correct ?

Mao Tse Tung criticised the Soviet
model of development as he thought
that it encouraged :

(A) Difference between mental and
physical labour

(B) Gap between Urban and Rural

areas

(C) Gap between Industry and
Agriculture

(D) Gap between Party and

Government

8.

LN o

EATeTdeh! ShIvreT fa=mi= Af = SAge
‘e ue REege’ (YMEAEE 9 Shidl)
I YEHA Ted ol 3y ?

(A) T HIeEh —

TSI G = gardi
YA R

(B) warefed —

FHIdAT " Taaeg= faos

EISIIRFS

(C) Bfe — T A FHSEE.

(D) TS feE&h! — HITEEU Shidl.

Weliush! Hivd faae sReR At ?

el ™ G Hifagd uren fase

gfaamEmEr w1 HI@HET A hi
(A) AFTESR 9 IS gAmed 9
fafor g

(B) Y& 9 UM 9rma TR fAmior
gl

(C) =M 9 Il ad AR fAmfor S

(D) &7 3o TR a7d 37X fator g
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10.

11.

Which one of the following books by

Plato describes Socrates’s trial and

punishment ?

(A) The Republic

(B) The Apology

(C) The Laws

(D) The Statesman

In which form of the state, according

to Aristotle, the principle of golden

mean is introduced ?

(A) Monarchy

(B) Oligarchy

(C) Polity

(D) Democracy

10.

11.

TTATATHT HIOTAT QEAHTT A

o N

HishfeHat=l el d I Hoiell TSl

e U el A ?

(A) fg fafsaren

(B) fg starerrsit

(C) fg =it

(D) f& Legua

Iffee=n Ad S T YRR

Eskta ol o foe M g [ A e £ A

(A) TSIeTE

(B) STeqSHIe!

(C) difert

(D) ARTIE
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12. Which one of the following

13.

statements is not correct ?

(A) Machiavelli gave birth to new
political science as he followed

historical method.

(B) Machiavelli wanted his prince
to build new state which was

efficient.

(C) For Machiavelli the interest of
the prince was inferior to reason

of state.

(D) In discourses Machiavelli
justified the immoral politics of

the prince.
Who said it : “I authorise and give
up my right of governing myself to
this man or this assembly of men,
on this condition that thou give up
the right to him, and authorise all

his actions in like manner” ?
(A) John Locke

(B) J.J. Rousseau

(C) Thrasymachus

(D) None of the above

12. WIeficideh! Ivd fau@ sler Aer ?

13.

(A) Hanlegel Ufderfas gsd=n amR

hed TAT TS 5 e

(B) USTH hiderd TR ol USawel
frator et ot Henteget=i goa

&It

(C) Haleeaed o fea ® Tsaren
fearen & HE@™ BN

(D) ‘feumrd®’ =1 Uod Heplega™
ST STfaeh TSRO THA

el e

“ A= AR TS HArE SARER

I o SHRIT= GUFR AT ST
I& Hd e i & g§l a1 TG

3T ST N Shedl ifgst.
HIU WA ?

(A) SA e

(B) SIS &4l

(C) JdIHRg

(D) =cTden! UGl ATl
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14. Who said it, “Equality must not be

15.

understood to mean that power and
riches should be equally divided
between all; but that power should
never be so strong as to be capable
of acts of violence and no one should
be sufficiently opulent to be able to

purchase another” ?

(A) J.S. Mill

(B) John Locke

(C) J.J. Rousseau

(D) Saint Simon

Which one of the following

statements is not correct ?

Gandhi’s theory of the oceanic circle

means :

(A) A system of centre-periphery

relationship.

(B) An independent, autonomous
and centralised system of

government.

(C) A non-pyramidal system of co-
existing autonomous and self-

governing villages.

(D) A mechanism to regulate
national life with, if need be,

violent means.

14.

15.

AT RIS G GO AT Fard qHH
TS TSI 0 -Teg. T HER Sash!
Yoles T T4 hi SAes <t kit fedah
Fdl A, A1 RV ARl TIH 3T
TI H @ T o 9% THa oW
HI UM ?

(A) STE. faa

(B) S ek
(C) IS &I

(D) Te 9=IHA

Gk hIUd fag@ sheR AT ?

H. MeiE TR agern g

BN :
(A) Hg-ufifs Geur Fowe.

(B) TGS, @A YU Shalghd A

I

(C) a9 Wenfad uHre gestiac

U HraHfoR{ed SerEen.

(D) T oA s qremr=
T TS Y fafaa swomd
0T
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16.

17.

The behavioural approach to the
study of comparative politics

emphasises :

(A) Purely historical and legalistic

analysis of politics

(B) Normative dimension of politics

(C) Methods of introspection and

subjective deductions

(D) Scientific and empirical

methods to study politics

In Marxist perspective on
Constitutionalism the role of

Constitution is to :
(A) Limit the authority of the state

(B) Protect the natural rights of the

individual

(C) Reflect the existing socio-
economic conditions of the
society in terms of relations of

production

(D) Decentralise the power of the
state to the maximum possible

level

16.

17.

FEB — 15313/I11

dafas SIS AT

et gfseahla TelieTdeh! o

qreer fage s gar ?

USteRome feaes tfqerfas @
Juifrer fagerom

(A)

(B) USThRUME HedATcHe AT

(C) Aferdfse SAH ST 3ATeH-

gfierome dgdl

(D) TSRO AU oAk o

STHST Tgdl

SeAERIEEdA AR TRY &R

TIEed & T

(A) TEEE AfyeR Agifeantd ®
e

(B) =HeKiteal -Hfifh BeRhi= T&TURI]
g 3

(C) faafara emfefe sfor |
qffeerdiqa ITWau=AT IcUTeH

YT gfafsfod s R,

(D) TSF-gra=gr a9 Afuwrfaes

o Y

EEFEURETLE I 1S
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18. Which of the following is not a

source of the British Constitution ?
(A) Statutory Law
(B) Common Law
(C) dJudicial Decisions
(D) Roman Law
19. Match List ‘A’ with List ‘B’
and select the correct answer from

the code given below :

List ‘A’
(1) Russia
(2)
3)

(4)

Japan
Germany
France
List ‘B’
(@) Senate
(b)
(c)
(d)
Codes

(A) (D-(a), (2)-(b), (3)-(c), (4)-(d)
(B) (1)-(b), (2)-(c), (3)-(d), (4)-(a)
(C) ()-(c), (2)-(d), (3)-(a), (4)-(D)

D) (D-(d), (2)-(c), (3)-(b), (4)-(a)

Bundesrat
House of Councillors

Federation of Council

18.

19.

GciteTdeh] SHivral |id @ fafest sea=n
i WUH Gl UK AT ?

(A) Rl «f

(B) wiHa @t

(C) =mrerEq fare

(D) T &

gt ‘et enfor e 9 = A e
Szl S0 Wiefiel Hehd YT 3T<eh
I Haet .

ESURE
e

(1)
(2)
(3)
(4)

(@)
(b)
(c) TR A% whfaed

(d) HEWH Ah HEEA

Codes

(A) (D-(a), (2)-(b), (3)-(c), (4)-(d)
(B) (1)-(b), (2)-(c), (3)-(d), (4)-(a)
(C) (1)-(e), (2)-(d), (3)-(a), (4)-(b)
D) (D-(d), (2)-(c), (3)-(b), (4)-(a)
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20. Which one of the following

recommendations was made by
C.M. Stephen Sub-committee with
regard to reforms in parliamentary

procedures ?

(A) Transferring first reading of

certain bills to committees

(B) Reducing parliamentary

sittings by one-third

(C) Increasing right to amend a bill

to its mover

(D) None of the above

20. H1.uH. fee®wd Iu-wiagda saw

TTRRETen! @efierish! SIv RTwRY
¥ OEeE SrEvGddia gERofasE
e ?

(A) e fagFer 999 areq giaciss
a0

(B) GHT QA=A S&hT=l &A1 1/3

Tfq Ut Lo

(C) fagas Iy HIOMT=AT UESTE]

gedl famriten sifyer arean

(a)

(D) sicTUeh! Tehel -Tel

21. Which one of the following | o; gy wwm 2w 3 ST
countries is an example of having % T o
Federal Constitution and Federal

Aed ?
Government ?

(A) 9@
(A) India
(B) Canada (B)
(C) USA (€) ITET
(D) Brazil (D) wifsred
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22. Match the List I with List II and

select the correct answer from the
code given below :

List I

(i) Federation under dual or
multiple monarchies.

(ii)) Federation under legislative
unions.

(zii) Federation under dual empires.

(iv) Federation under decentralized
unitary system.

List II

(1) No guarantee of autonomy as
it is revocable.

(2) Hapsburg rulers of Austria and
Hungary.

(3) Constituent parts are united
only in the person of a
sovereign.

(4) Case of England and Scotland
in 1707.

Codes :

@ @ @) (o)
Aa @ & O @
@ B @ @ @
e O @ @ O
™ @ @O @ (@

22. TEI I amfur =it 11 =0 9 & S

B Tiellal Hehay=idial s IN

faen .
W I

(@) <F fowar ATen 3ifys ToTERET
Mg Eeltal IR

(i) dunfae TETe SAfuden wet

TERT.
Gii) 39 "R AfgcTEret
O

(v) fahfsa Tha =aed=a Afugen
el TE=d.

W o

(1) W@Eaae hec™ il A’ HRU o

FHflEl TR A0 S Iehd.

) erifear enfor &R
AT

(3) WHEH He=a TRl Sk
AT ThIhul.

(4) 1707 WA ITAE o Thicasd
3T

n%ﬁ'dg%ﬁ :

@) @ @) Qo)

Aa @ 3 GO @

B 3 @ @ @

e O @ @ O

D @ O B @

esen
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23. In which one of the following | 23. WIHcUH! HIVAT TIHMHET TTAS-
decades the bi-election in UK aefiad 3y-fraeuent facaror wewm=n
mattered in consequential way ? e A ?

(A) 1970s (A) 1970 = T3
(B) 1980s (B) 1980 = T3
(C) 1990s (C) 1990 = T3
(D) None of the above (D) alcden! SIodd el

24. Who among the following has | 24. WIciicidsh! IV TATHHM TSTh
classified political parties as clientele eI R0l § ‘FAed ue’, difleh
parties, ethnic parties, religious Te, GifHer ge oAt ‘aienfia qel’, o9
parties and class-based parties : Hhd IR ?

(A) Jean Blondel (A) b sl
(B) Maurice Duverger (B) W& sk
(C) M. Ostrogorski (C) TH. SR
(D) R. Michels (D) R THaew
13 [P.T.O.
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25. The three political philosophers who
laid the foundation for the theory of

separation of powers were :
(A) Aristotle, Bodin, John Locke

(B) Aristotle, St. Awugustine,

Thomas Hobbes
(C) Plato, Machiavelli, John Locke
(D) Plato, Bodin, Machiavelli

26. Political socialisation is primarily :

(A) Extractive function of political

system

(B) Conversion function of political

system

(C) Symbolic function of political

system

(D) System maintenance and
adaptation function of political

system

25.

26.

gxrfaarsArsar fagrarar s /4
qeaAl 9T Hel O Seftetdeh! Shior
JRd ?

(A) sffeeted, dic, 9 df®
(B) 3iffea, ¥e StifaH, Ay gfss

N e o

2l, HihUsgdll, SH <l

(C) =

(D) =, i, Hfhusgett

ST ATETTSHRIRIO 8 USRI

I

(A) IUCH HE 3T

(B) ®UR FE AR

(C) yfderrcHss v ®

(D) =z frater afor Qoo =

R
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27.

28.

The major contribution to the
development discourse by the
proponents of dependency theory

has been :

(A) Enriching the Agrarian model

of development

(B) Rectifying the capitalist model

of development

(C) dJustifying the ecological model

of development

(D) Explaining the process of

‘Underdevelopment’

Who among the following elitist
theorists emphasised the psycho-
logical traits of the elite as the

source of its influence ?
(A) Mosca

(B) Burnham

(C) C. Wright Mills

(D) Pareto

27.

28.

FEB — 15313/I11

‘gradfaca fagiarsar’ gadwit

foerrafasze ==t favam shoel Aew=

IEE TS

(A) T FE fah™E GaSER Ty

TS el

(B) I Wigael fosmm TEd o

el

(C) S gaferoy fashmEr=n greara
399 e fea

o o aY N

frefasmar=t gfshan drerciq

(D) <
TR HEed GiiTae

TTATAT R HIvTeATEl  IfuSTaret

fgTaes SIfysTT=an gurer=n €id =
Sftregl wAfas Turemtn e Sen
e ?

(A) HIEhT
(B) =g
(C) . TEe faem
(D) 9=

15
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29. A developing society would have to | 29. faraeitct FaMTen Ny FHST=N

pass through four stages to become SR GEUAEE! AR ST Sl
a modern society. Arrange the AT, @iell foeiedn ar Tewe A
following stages chronologically : et

(A) () Industrialisation (A) () SirEfreRtw

(z1) Political unification
(Z11) National welfare

(iv) Abundance

({i) USThid Thihol
(i1i) UEE He
(iv) Fggt

(B) (i) Political unification (B) (i) USTHIA TehIhT
(21) Industrialisation (i) SRR
(zii) National welfare (ii) TSI e
(tv) Abundance (iv) Fgg

(C) (@) National welfare (C) () TSI T

(z1) Political unification

(i) USThIT Tehiehul

(iii) Industrialisation (i) SRR
(tv) Abundance (iv) Fgt

(D) (@) National welfare D) () T T
(i1) Industrialisation (i) SRt

(zi1) Political unification

(iv) Abundance

ARSEIRIRCAE T

Gv) T

16

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

30. Which among the following books is 30, wTEF FITET TUTd detTH
considered to be the first systematic
SYIMMEHATAT eI l‘los(lﬁlk'lr\lcﬂ e
presentation of group-approach to
the study of comparative politics ? faaTarl geme qgaeit Wl FT0am
(A) The Political System el T ?
(B) The Nerves of Government (A T2 e e
(C) The Process of Government
(B) fg &9 3w TAHe
(D) The Governmental Process
31. How was the Constituent Assembly (©) & S =
to be composed under Cabinet D) f& T gEE
Mission Plan ?
_ 31. @fome fHem AemA we affd=n @
(A) Indirectly elected by the system
of proportional representation M FhR Yefoell &t 2
from provincial legislatures. . .
(A) gifqr  faferAeagr gAORIR
(B) Directly elected members by the
gfdfeer=a SER YA IS
people of India.
(C) Nominated members by the (B) YRAr=Al SHAHEA YA Haeue®
provincial legislatures. . o
(C) yifder fafureaigr “Heh
(D) Elected by restricted and select
franchise. (D) Afes wefeeRmre e feeTs
17 [P.T.O.
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32. Who among the following was the | 39 goqmfiden scugEHN fUFR
Chairman of the Committee on
i o7e981 Wielieies! o B 2
Minorities Rights in the Constituent
Assembly ? (A) T
(A) N. Gopalswamy Iyyengar (B) 9&R A
B) Sardar Patel
® (©) @ T
(C) K.M. Munshi
(D) 1.3 STESHT
(D) B.R. Ambedkar
33. WAARR YR 3ienfres  faemmarst
33. Which one of the following was
concerned with the industrial EIEAAIFT FIOTEA ATAT FA
development of India after qrar ?
independence ?
(A) Hfome faem I
(A) Cabinet Mission Plan
(B) & w1
(B) Bombay Plan
(C) HI&Hese IS
(C) Mountbatten Plan
(D) Karachi Charter (D) ST =X
18

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

34. When was the Constitutional

35.

Amendment to add the provision of

Fundamental Duties made ?

(A) After Chinese war in 1962

(B) After war with Pakistan in

1965

(C) After India-Pakistan war in

1971

(D) During national emergency in

1976

Who among the following said : “If
any government ignores Directive
Principles of State Policy, they will
have to answer for them before the

electorate at the election time.” ?
(A) Sardar Patel

(B) Maulana Azad

(C) B.R. Ambedkar

(D) Jawaharlal Nehru

34. HAYd hded ®Ad Hayd HIOMY

35.

TeAIGEE wEft el el ?

(A) 1962 = = JFHM®

(B) 1965 =T UIfeh&™ FFHM

(C) 1971 =M YRA-TIfh&™ JFHM

(D) 1976 = TS SO ST

“SR TEEl 9hRA ANl dxdiehe

TAY hal, W A FHeaSuw=n de

HAGNHAT ¢ ATl Se el arre.” 3/

eI GIGECARE LR

(A) FER 9

(B) HiAM 3T=E

(C) «.3TR. ATaEHT

(D) AR 8%

19
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36.

37.

Which one of the following is
provided in Indian Constitution vide

Part V, Chapter 1, Articles 52-78 ?

(A) The Union Executive

(B) The Union Legislature

(C) The Judiciary

(D) Fundamental Rights

The matters of currency, banking,
duties and income taxation belong
to which one of the following Lists

in Indian Constitution ?

(A) Concurrent List

(B) Union List

(C) State List

(D) None of the above

36.

37.

AT TSTEET=AT 91 5, Fehd0l 1, et

52 d 78 JHEN WiciicTdeh] SHIMTeroi=n

TS IS e ed ?

n

(A) 3

SRR HEB
(B) =4 fafemiges

(C) —FrIarieTeht

(D) qoqd AfEeRR

T, dfeRTT, A H ST IAH R

I el YR ToTEeIdiel @loiletuehl

SV ARG U hedl 3Ted ?

(A) F9adl =t

(B) %

(C) T gt

(D) ITUeh! <RIV TRl
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38. Which one of the following books 38. ‘L||{q|q“|m {|\re,||.€q‘[ {|\y|ch|{U||o|{ﬁ|Qr|
was the first to be published on state ETeer e T T waid een
politics in India ? . -

HehlIRld  Sldl  eldl ?
(A) Igbal Narain — State Politics .
(A) THETA ARE0 — R UifeAteard g9
in India
grear
(B) Lawrence Saez — Federalism
Without a Centre (B) - 5
(C) Myron Weiner — State Politics
in India (C) WA 9 — W< uifaread g
(D) Rajni Kothari — Politics in HES
India (D) Tt et — uifefeeard 3 sfear
39. Which one of the following W e e R
39. WlclclUshl hIUAT TBdBI | Hedld
movements was launched in
TR el 2
Maharashtra ?
(A) Taun Fdes
(A) Chipko Movement
(B) Silent Valley Movement (B) WIS =il Hesdes
(C) Fisher Folk’s Movement (C) wAfsARI= e
(D) Dalit Panther Movement (D) Tfad ¥R Fesaes
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40. Which one of the group of the | 40, TsH=n Wl SV 2@ A
following states are free from the T T
politics of coalition ?
A) TSR, TSEAM, TEAYRY
(A) Gujarat, Rajasthan, M.P. &)
(B) W. Bengal, U.P., Kerala (B) |R=™ A, IW Y, HIB
(C) Karnataka, Tamil Nadu, (C) FHlesh, dlﬁ-lodvug\, RE S
Jharkhand . .
(D) TS, TEY, Y 9o9
(D) Punjab, Gujarat, Andhra
41. YA TSTEeAd @Ieierdsh! shioTe
Pradesh
Eﬂﬁﬁ%ﬂ g‘l:né‘g‘[ T;B@ﬁﬂ ?
41. Which one of the following is not L
included in Indian Constitution ? (A) TrESA s
(A) Planning Commission B) >
(B) Finance Commission
(C) Tereur &M
(C) Election Commission
(D) aeTIeh! IRl AT
(D) None of the above
42. Which one of the following political 42. WIS FIO TR TaH A
parties had made a secessionist e SOATE HETON el Bt ?
demand ?
(A) deF[eYH H&
(A) TDP
(B) deior Tsg |fit
(B) Telangana Rashtra Samiti
(C) Indian Muslim League © 1 Rl
(D) DMK (D) sfae =7 wosed (SL.THS.)
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43. Which one of the following groups | 43. 1980 =41 T¥hId HITR hi=RigHY
of states was not a participant of WATedeh] o Th T HgHIR Zre
Srinagar Conclave in 1980s ? Tegdr 2
(A) Punjab, Haryana, Himachal (A) IT@, Ram, ferea wew, Sw

Pradesh, U.P. PER
(B) J&K, Tamil Nadu, Andhra (B) Y-V, AT, S H,
Pradesh, West Bengal ARk N
(C) Assam, Karnataka, Maharashtra, ©) y prilesh, Hells, chied
Kerala (D) TSREAF, HEF Ye¥l, 1, fqferma
(D) Rajasthan, M.P., Orissa, Sikkim | 44. @™ () : 9ud™ <disheml wmem
FTERAIA 3THeh Hew@e J9 hyEmg
44. BAssertion (A) : The Kesavanand )
Bharati Case addressed important
issues in Parliamentary democratic PRUT (R) : CAHSH=AT TSI HHA
governance. FAGERT HIATAT YRR HA]
Hdel.
Reason (R) : The verdict put limits )
on the power of the Parliament to =
amend the Constitution. (A) Toam (A) &0 R (R) =l &
Codos - e 9 HRO (R) & (A) faemm
' ITF T TR
(A) Both (A) and (R) are true but - a
R is not ¢ exolanati (B) faum (A) afor RO (R) <61 &R
is not correct explanation o ST B (R) & (A) Faemm
of (A) N
3T TR0 TR
(B) Bot}-1 (A) and (R) are -true and ©) FEF (A) W SR T FT (R)
(R) is correct explanation of (A) o
(C) (A) is true but (R) is false D) FI9M (A) SRS S 99 FAG (R)
(D) (A) is false but (R) is true T 3
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45. New Public Management underlined

the importance of :

(A) Corporate State

(B) Interventionist State

(C) Welfare State

(D) Socialist State

46. According to Woodrow Wilson, the
study of Public Administration is

concerned with :

(A) Complementarity of Politics and

Administration

(B) Dichotomy between Politics and

Administration

(C) Superiority of Politics over

Administration

(D) Subordination of Politics to

Administration

45. TA-TNHAFTTATIA YEAdHh TH

46.

AURMEd &l :

(A) IUHESTA T

(B) TWHIYEN T

(C) FARR T

(D) FHSERT T

~

g foee  Jr=a AATJaR AR TRIEAT=

A e YhRAl Gy A

(A) TSTHRT I GTEA A< ARG

(B) TSRO o YA A gd

(C) TSRO YIMEAER 953

(D) TSThROME FMER g2AHdl
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47.

48.

For the following question, mark

(A) if both assertion (¢) and reason
(r) are correct and reason (r)

explains assertion (a)

(B) If (@) and (r) are correct but

(r) is not correct explanation
of (a)

(C) If (a) is correct and (r) is

wrong
(D) If both (a) and (r) are wrong

Assertion (a): Scientific manage-
ment upholds standardisation and

functionalisation.

Reason

(r): F.W. Taylor believed

in participative management.

The classical theory of organisa-

tion :

(A) Dbelieves that human behaviour

is not rational

(B) is concerned with formal

organisation structure

(®))

is concerned with informal

organisation structure

(D) is oriented towards human

relations

47.

48.

FEB — 15313/III
el TSt S faem () ST s
(r) SIeel sIeR A 9 hR (1) §

faumMre TRt 3 8d R (A) § S

1.

oM (@) 300 RO () SR ATAA

T RO (r) B (o) TOuMR T
A ® (B) € SW AL

W f949M (@) SR 90 R (r) T
IFFA R (C) & SW ;W

fauM (o) o R () = T FEAA
® (D) T SW =

faam™ (@)
YU (standardisation) 9
HRAASRd (functionalisation) =T

R .

RIMTEART] S oA TgTUA

HRUT  (r) : TH Soog. oo A

HEHMIcHS AT IR el

geeT= oTfveg fagr

(A) Tt I RS THT Y WU
(B) g HEeel Wefyd TR
(C) STAT=TRer e el Hafud 3T

(D) 9l "oy AfYgE TR
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49. New Public Administration under- | 49. Ta-GARIRTHAN il Tk TERFEd
lined : EI
(A) Efficiency and Economy (A) FEAFHAT o HIEHH
(B) Value Neutrality (B) HoIdZ¥Id@
(C) Management Approach (C) HaEaraq gfteshM
(D) Social Relevance Approach (D) wHIfSeh g&aar sifufted gftesA
50. In which of the following country the | 50. YEleTdeh! STV TSI ¥ HIEIFHRI T
Chief Executive is plural ? sgget (plural) 3T® ?
(A) England (A) TEE
(B) France (B) ®rH
(C) Switzerland (C) TacEes
(D) US. D) T,
51. The ministerial control over | 51. H=™ =0 Yads! THT THRME
administration is maximum in : aifees 319d
(A) Government Company (A) IMERT HY
(B) Government Department (B) MR @Td
(C) dJoint Public Undertakings (C) H’eiom qrasifaeh 3UHY
(D) Public Corporation (D) HESieh HEHE®D
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52. For Max Weber, which one of the
following is not a characteristic
of bureaucracy as a form of
organisation ?

(A) Selection by merit
(B) Hierarchy of offices

(C) Strict adherance to rules

(D) Public Jobs as personal favour

53. Empowerment of women became

one of the important objectives
in one of the following Five Year

Plans :

(A) Third Five Year Plan

(B) Seventh Five Year Plan

(C) Eighth Five Year Plan

(D) Ninth Five Year Plan

52.

53.

FEB — 15313/I11

e IR AT AAER JEietush! Shiord

T AhWMEN GoeA=l IR RUH

e AR ?

(A) IEATER e

(B) AfyepRag=l Q=

(C) ¥ FReHR geH

(D) SRfRTh ATIRITIR WSl +eh SIFTER

gt

il HOCHh{o T Jelardehl v

oc oV

Jedifter deHe e 3R B ?

(A) fagd gemEfties Irem

~e N

(B) 9rael goEnftier IS
(C) 3Teal g=aftier s
(D) el GEftieh IS
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54.

55.

Findings of Public Accounts

Committee are important because :

(A) These are valuable for future

guidance

(B) All members of the committee

are experts

(C) These relate to the transactions

to be completed

(D) These can prevent current

expenditure

Distinction between traditional and
development administration is that

traditional administration :

(A) emphasises regulatory work

(B) has flexible and developing

structures

(©)

is human relationship oriented

(D) takes initiative and is dynamic

54.

55.

qEseh o gfde ey T

HAld, 9T

(A) =1 qEd ARTGRIEREl STERT
Bl

(B) I Gffdidiel 9d 99E a9 A9drd

(C) = FaY Y01 h{ear=A HATRL

Tl

(D) = Hes =le] Teier gfaee sl

Il

IRURe 9 foeh™ T Irdiel ek WSl

IRUfr IR

(A) fEmes FEER W <A

(B) <Im=A1 | AAafueh o foeshree e

SHdId

(C) Al oY YaU A9

(D) 1 YR =d A Tfasiieal o 19d
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56. Second Administrative Reforms | 56. &g Imga™ fgdia 9vmes YR
Commission was appointed by the s fged qEieriet T e
Central Government in the year : ET i
(A) 1966 (A) 1966
(B) 1990 (B) 1990
(C) 2005 (©) 2005
D) 2010
D) (D) 2010

57. The theory that “Administration .

Y 57. “UNTEA § &pdes ofgd @ fagm
is culture-bound” has been A w - .
Jelcdlenl Uehlq Hiscdl
propounded by :
(A) =X FArE
(A) Chester Barnard
(B) Th.gsy. fost
(B) F.W. Riggs
C Ty, N
(C) F.W. Taylor ©) T/
(D) Woodrow Wilson D) T

58. Panchayati Raj owes its existence to 58. WHTAAl IFAT  SATHTH  HAT=A1
one of the following Article of the USFEEAdleT qelel ShefHEal SATeia
Indian Constitution : SICHE
(A) Article 14 (A) =heH 14
(B) Article 15d (B) =™ 15d
(C) Article 31 (C) e 31
(D) Article 40 (D) ™ 40
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59. Which of the following statements

regarding PPP (Public Private

Partnership) is correct ?

(1) Private management of public

services

(2) Outright sale of public services

(3) PPP does not reduce the

responsibility and accountability

of government

(4) PPP is public partnership and

private projects

(A) (1), (2) and (3) are correct

(B) (2), (3) and (4) are correct

(C) (1), (2) and (4) are correct

(D) (1), (3) and (4) are correct

59. Yerad®! PPP (@rdwfA®-wIre

TeUNT) Hael qéerdesh! Siva faum

T 3 ?

(1) HrasiIeh Har TS oL

(2) wresiTen Seret qui sk

(3) PPP Hes IMEATE! SeERR! fehan

SIETI et B A&l

(4) PPP WUS GESeh Rl i

WS Yehed

(A) (1), (2) 9 (3) TSR 3T

(B) (2), (8) 9 (4) s&X 3T=d

(C) (1), (2) T (4) SR e

D) (1), () 9 (4) s 3TMd
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60.

61.

Self-determination means :

(A) Assertion of nationalities to
determine what authority will

rule them

(B) A decision-making process
guided by careful study of

situations

(C) A method of decision-making
based on having perfect

information

(D) A concept derived from Charles
Darwin’s theory that argues
that ruthless competition is

ethically acceptable to survive

Which one of the following is a
process in which a third party
participates in negotiations between

contending parties ?
(A) Use of good offices
(B) Arbitration

(C) Mediation

(D) Enquiry

60.

61.

TR BN

(A) I ATSERT IR TS HIR

T TR 0

(B) ufifeerdi=a ®resiiga® Holed
SATE G BIORT RO
EIERI

(C) @Fgs wrfedia sfrenfyd fAof
O qgd

(D) rfeaca fewmauamarst=t A

eyl Afqegsen o= R, &

e eifdTe fagraer snenfia

HheTT

EeiciUeh! vl Gfshad S Hesird
qeTI=aT arerereiael fawu a1 «mm

udl 2

(A) A9 ATYSHI=T dRERT 96
TS Wesd YA hi0

(B) @@
(C) wegeelt
(D) <rehyt
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62. The following pair of countries | §2. TIM=AT WIATAURT HITIT SIS
played a leading role in the IOR-ARC = Fifiidiq wewrh yfie
formation of IOR-ARC (Indian -

Ocean Region Association for
Regional Co-operation) : (A) R—sfrefer
(A) India—Australia (B) wiRa—<feror effthent
(B) India—South Africa (C) YRa—famgR
(C) India—Singapore (D) TRA—THIw
(D) India—Mauritius
63. “Tsfed axgssqul Fuilka war ad” o/

63. Who claims that “national interest g
can be determined objectively” ?

(A) SR
(A) Feminists
(B) Post-modernists (B) SW-#1g
(C) Realists (C) IR
(D) Liberals (D) SERAET

64. Who among the following normally | 4. YRa™ TSR Ravar=n FiHIR
has maximum influence on the JEId: R Gl g o ?
making of Indian Foreign Policy ?

(A) Hage™
(A) Prime Minister
B) ©
(B) Parliament (B) W&
(C) Ruling Party (C) TR wad
(D) Foreign Minister (D) oS
32
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65.

66.

The Realist Theory is based on the

premise that :

(A) Application of Reason and
Universal Ethics to Inter-
national Relations can lead to

a more orderly world.

(B) World peace and prosperity can
created through law, global
governance and co-operation

among states.

(C) Political integration of states
is possible through the creation
of Inter-Government Organisa-

tions.

(D) World Politics is essentially a

struggle among self-interested

states for power.
End of the Cold War has resulted
in :
(A) End of nuclear proliferation
(B) End of inter-state war

(C) End of bipolarity

(D) End of power politics

65.

66.

araare! fagiae Téae 3™ &

(A) fooe enfor e ifqan ==
S eIy goefed dEa.

(B) w1aer, wrfas vmga eArfuo

TSIRTSTIHENA Tgahtd  II=a1gR
StrTfder Sridan STfor go=rar geenfua
HA I

(C) ST A=A HILTHA

TSI USTh1d ThTcHIhLUT hu]

I 3TTE.

SITfdeh  USTeh 0T TS Lafedr
I A TSArHE A FE

(D)

viiags Hoedran aRum

(A) AU YHREerEl 37d
(B) efidiaeia Jgien 3id
(C) fgyeftada=n ofa

(D) TO=AT USTRILOM=N 37d
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67. Match the pairs and select the
correct answer from the codes given
below :

List T
Internal rebellion

Ethnic conflict

(@)
(b)
(c)
d)

Separatism
Insurgency
List IT

The struggle of the LTTE in Sri
Lanka

@)

(i) Overthrow of Mubarak regime
in Egypt

(z11) The NSCN (IM) in Nagaland
(tv) Pattani Province in Thailand

Codes :

@ & ©© @
A @G @ (v )
B @ @ @) G
© G @ @G @
M @) @ @O G

68. In which of the following countries

UN-mandated use of force helped
the rebels overthrow the dictator of
the country in August, 2011 ?

(A) Tunisia
(B) Egypt
(C) Libya
(D) Syria

67.

68.

I S Teoal ST Wil Hebd
eildiel  3Teleh S ferer
Tt 1
(@) 3Tad SIS
(b) =ifere gerd
(c) THERAER
(d) W 334G
gt o
() sicihdid T gud

(i) IHY HaRE See I

EAEaY|
(iif) eieqY TI.OE. LT, (TE.TH.)

(jv) UAFGSHHTA Tt U

-
.
-

@ ® © @
A @ @ (v )
B @ @ @) Gv)
© Gv @ @G @
M @) @G @ Gv

Geftetdehl shivredl 29 M=, 2011
Y T TSI THA sholedl Soal=l
SIS TSEIRHAT T QU gohHSIE]
e SAFgd hUAd Hed Smeft 2

(A) Hgffern
(B) sfN=
(C) fafeen
(D) i
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69.

70.

Which of the following statements
correctly describes India’s Policy in
Mayanmar ?

(A) India the
ruling military regime while

accommodated

quietly and subtly working for
democratic change

(B) India supported the National
League for Democracy and
denounced the rule of the

military regime

(C) India followed a policy of
strict “non-interference” in the

internal affairs of Myanmar

(D) India always supported the
military regime and denounced

the democracy movement

India-China relations have become
far more complex today than in the
1960s, because :

(A) the two countries have become
the largest trading partners of
each other

(B) the two countries co-operate at
multilateral level but continue

to have many bilateral disputes

(C) the

embarked upon naval expansion

two countries have

(D) the two countries have not yet

resolved their border dispute

69.

70.

FEB — 15313/I11

WeficAdeht hiord faum mmaRfesE=mn
ORAr= SR A 90 g ?

(a)

(A) YA TehT SISl SToehil TSTareit
I3 bd FAHAH THAT S
AYALTIU AIhIMal doddosidIgl

YISTEU shedl

YRAME YA AN R SHIRE
gifgen feam amfor aeepdt TSIt
iR el

AAAT S aeiAg Jobid
TEAT 7 HOATH HIOT WA
REE]

YRA AgHE AShi STaidl
rfaen fean Tfor SIReTel <csaes=n
oy sen

1960 =AT TITHTUET S YRA-= 1

ey Afye [an(did d9c  3T=q,

FHRO ;

(A) ® ST 2V TkhUkIY Taid HIS
O 9IeR ol 3AT=d

(B) ¥ SF <91 dg3eid ook TER
TEHTE HIA el g UTdesior

A 3Tk fade 3TRd

(B)

(®);

(D)

(C) &1 <19 2IMA HisaT FHTUMER
Tifoss wrHed dTeaTaTg g

el TR

(D) &1 S 30 e EE foene
3T Higaaien el
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71.

72.

73.

Which of the following regions
has declared itself a “Nuclear-Free

Zone” ?

(A) South Asia

(B) South-east Asia
(C) East Asia

(D) Central Asia

Which of the following is not
included in the notion of Human

Security ?

(A) Economic security

(B) Environmental security
(C) Regime security

(D) Security of the minorities

How can you best describe India’s

Nuclear Programme ?
(A) Military

(B) Dual Track

(C) Civilian

(D) Technological

71.

72.

73.

TITATATRT HITTIT AT T ;AT

“SueermEd g% wuA CEiftd w |
e ?

(A) <feror enferen
(B) &= amfyrEn
(C) qd et
(D) \eg S

Al GRE=AT Ghoddd Sl
FIO A= FHER B AR 2
(A) oTfdsh qeam

(B) TAieRUE et

(C) TS TRaT

(D) STeUEEAThT &t

RATAT 3TfUeleh AN AT Ui

Y HAA ?
(A) TR
(B) fgmmit
(C) AT

(D) dIAEHE
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74. What does the principle of Most

75.

Favoured Nation (MFN) in WTO

mean ?

(A) Lower trade barriers for MFN

than other countries

(B) Higher trade barriers for MFN

than other countries

(C) Trade barriers applied to MFN

must be applied to all others

(D) Removal of all trade barriers

for the MFN

Which among the following political

parties have been

opposing

Women’s Reservation Bill ?

(A) Congress, CPI, CPM

(B) RJD, Samajwadi Party, BSP
(C) BJP, RJD, Akali Dal

(D) TDP, NCP, Samajwadi Party

FEB — 15313/I11

74. Sfas AR GEEATA  Haifus

75.

Taae e’ (MFN) o dearen 3
w2

(A) SR e MFN 9E S9N
3TEUSB HH STHA

(B) ST Uil MFN HE! S9N
3T Y T

(C) MFN 938 IR Side ASUs
AT doled SR AT AN
HUA AN

(D) MFN 98I NN Td 3TS9

TG Zehelel SAHATd

GTeieideh] hIo Tsthig ey feam

SR o=l fagFepten folig san

JRd ?

(A) I, YR FEIRE 981, Hedam]
HEfTE 9y

(B) TSI ST S, FHISTAR! Y&, SgsT

HHIST &

(C) YR SFal 98, TR SFal €,
3ThIe T

(D) TFee™ def, UegaR! g 9,
THTSEET qe
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from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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